== A
N = 0] &8 AF S & AN A
S A S A0S
HM: HII2 SE2F H2(BES/HIIZ)
el WRE CABY ZH (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
< Al O] 3t 34,892,954 33,521,302 1,371,652
= 206,700
= 44,240
Al 34,642,014
HII2 288 Ma(3#HES/HIIS) 34,709,994 33,345,364 1,364,630
= 206,700
o= 44 240
Al 34,459,054
MRE TAEAE XM 24,926,509 23,728,388 1,198,121
= 201,600
o 40,320
Al 24,684,589
HIISXel 2e - 2S 44 185 30,720 13,465
201 et 9| 26,120 26,120 0
01 AP 2t 2] d| 26,120 26,120 0]
O gbtx==H| 26,120
o HIIS sk A= J&
1,000 * 50000 * 4= 2,000
o MOl 2H & M 2= H&
1,000& * 2,0000H » 1= 2,000
o HII2 88 Hdel 28 g8 s4£9 Xz
80,000 * 74 = 23] 1,120
o A E HII2 28 ANEEZE M
1,000 * 50008 * 2= 1,000
o Z&X YUXHIIZE S Ml
20,000,000 * 14! 20,000
202 o4 | 4,600 4,600 0
01 2Ll 4,600 4,600 0
O HIIZ2H&E Helga, 2 - FFE - Al -2
Sst= 85, OOO% * 28 x 22 x 33| 1,020
O HoI=2c2l8 HEuUs & 25 Hou &4
85,000& x 2% x 3Y x 23] 1,020
O SXHIIS LdHMEA
20,000 * 2% * 22 « 83| 640
O Sd0lE & A0 AFZE I Al
20,0003 * 2% * 4L « 128 1,920
301 et A= 13,465 0 13,465
11 JIEtE A= 13,465 0 13,465
O 201849 AdAmiol RAH=S0 13,465
o SERE X0z ¥ SEIY
13,465,000 = 14 13,465
=d0lE XMel K& 403,200 336,000 67,200
= 201,600
& 40,320
Al 161,280




M S A0S
g HII=E &

E8X
el WRE CABY ZH (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
402 BI2FX=01 M 403,200 336,000 67,200
2 201,600
< 40,320
Al 161,280
03 212t &AL S HI 403,200 336,000 67,200
O sd0lE HMel XIEAY
3,360,000& * 120= 403,200
= 201,600
< 40,320
Al 161,280
HEHIIES =8 - 2 & H2HEL 23,557,210 22,824,587 732,623
201 ¢er24| 1,200 1,200 0
01 At 22/l 1,200 1,200 0
O 2g+¢ 1,200
o TASAH EaUE ot 3o F4
=g 100,000& = 6Y « 23] 1,200
202 04l 2,925 3,055 A 130
01 = LH o4 1l 2,925 3,055 A 130
O F2UdEM N B
20,000& = 3 * 3 * 123 2,160
O BAady HdAX vX0HY
85,000& = 3H » 3« 765
301 et d =S 16,200 8,000 8,200
NMIEEa= 16,200 8,000 8,200
O TAZesd FAUHALYR ST Bote =
=4 100,000& = 2798 = 3 « 23| 16,200
308 XX EHSOIA 22,749,885 21,777,032 972,853
10 B3I/ 2SOHUHSZAEEALS I 22,749,885 21,777,032 972,853
HANHAIY Q& 2 (HEHIIE =8
28 4 JIIZ2HA-F A 22,749,885
22,749,885,000& * 14
403 MtXISHE X201 & 787,000 1,035,300 A 248,300
02 SO 2SO0 HEHAHE X 2 E AL H 787,000 1,035,300 A 248,300
O HFAUHAIY 98 2L (MEHIIS =8 -
28 2 Jt2H A-X2) 787,000,0003 * 14 787,000
oS0 o= JtRI| 332 &3 20,900 19,700 1,200
201 L2l 16,300 16,300 0
01 At 22l 16,300 16,300 0
O Let==&H| 16,300
o FZEgs 83 7Y 10,100
- PPECH 300& * 19,0000H 5,700
- & A 3,000& = 800 2,400
- ¥ 2,500& = 40Et » 12& 1,200




SA ZADIED
M {2 58X Hel(BFBS/HIIS)
©el RS CAIE

a4 (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
- oM 4,000& * 200 800
o HZEgs =2 E22 MHA 6,200
- 8@ 80,000& * 20014 = 23] 3,200
- 882 X M 150& = 20,0000H 3,000
303 &3 4,600 3,400 1,200
01 Z&= 4,600 3,400 1,200
O OlSU2 W=ItRI| HBES 2+ SHS
= 2,300,000& = 23] 4,600
HIISSE2H E 901,014 517,381 383,633
101 @124l 282,081 0 282,081
04 D12t Z22EE = 282,081 0 282,081
O 2¥SIZA 282,081
o olsgl
7,530 * 54Y x 4Al 2t » 3Y * 52= 253,731
o MIZBEES(HLES, M4HEEH)
25,380,000& * 14 25,380
o 1=l 2,970
- X 20,0003 = 54H « 23| 2,160
- 22X 15,0003 » 54Y = 13 810
201 L2l 50,690 27,844 22,846
01 At 22l 43,090 26,000 17,090
O e+t 43,090
o EHII2 Wsdd AEIH WM
100& = 160, 0000H 16,000
o MEHI =S SEM SF T EXNE F
gl 1,200
- Jt&AE 1,000& * 6000H 600
- EXE 1,000& * 6000H 600
o MEHIIES M HEUW A2 22 A
e M 1002 * 10,00000 * 43 4,000
o 2¥HEI 2&2 8 28 g% MH
80,000& = 15014 * 23] 2,400
o EYSEI ZAIMN 225 2L 3,950
- HHE el 150,000& * 184 2,700
- SOOI 2el3tE 50,0003 = 2504 1,250
o EYED & MFME L HUl(HgE
) 150,0002 * 1007H 2 15,000
o SHEIIZARA MZE, IS WA
10,0008 * 54H 540
02 =224l 7,600 1,844 5,756
O 2YSI MEHE MEX Mag: L o X
=2 1,000& * 100 100
O A& ZHIKRXH 7,500
o ZTAIItOI2t | X122l 5,000,000& * 14 5,000




2N

X ZH
S =

el

S AIOI 2t

CHIIE 288 MaA(#EES/HIIS)

=
MRE TAEE =4

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
o SYHED| ZAIIIMHI2H 0l & Hl
250,000& = 1090 2 2,500
206 M = Hl 392,976 297,012 95,964
01 & bl 392,976 297,012 95,964
O MEHIES M 5 MEOIHY) 263,040
o 2UtE 104 36& = 80,0000 ~ 12& 34,560
o 2HZ 204 542 * 120,00000  12& 77,760
o YBtE 504 118& = 80,0000 * 12& 113,280
o 5= 1004 208& =+ 15,0000 * 12& 37,440
O HIIZSZM 25 A (WAE 85) 118,200
o MAFS 104 36& * 75,0000 ~ 12& 32,400
o THAIE 204 55& * 130,00008 * 12& 85,800
O HIISZSZEM 25 I (228 25) 11,736
o 23& 504 118& * 3,00004 * 12& 4,248
o 33E 1004 208& * 3,0000H  12& 7,488
301 Bt A= 3,000 3,000 0
1M IIEtE &2 3,000 3,000 0
O HIIZ S8ED AL ZAZ 3,000
o HeAlMNEA 10,000& = 3000H 3,000
308 XX S M SO0l & 172,267 144,525 27,742
10 B 2SHUSEANAE ALY 172,267 144,525 27,742
O EHHSE L SAEF HIIZS AEH S
S22 Arg Yl 172,267,000& » 14 172,267
Teo B MEES 692,903 679,014 13,889
= 5,100
= 3,920
Al 683,883
SAE3 HII=Z2 Hel 128,410 143,710 A 15,300
201 YEr2 Y| 80,320 95,620 A 15,300
01 AFR2t2l bl 80,320 95,620 A 15,300
O SASFHIE =42 2SS (AEIAH)AM
& 63,720
o AJE(EH) 11,520
- 23 200 * 2,40000 = 2& * 128 11,520
o HE ZISFHE(198) 52,200
- 34 30& * 200,00000 * 33 18,000
- 54 30& * 130,00000 * 33 11,700
- 104 30& = 60,0000 * 33| 5,400
- 604 30& * 60,0000 * 33 5,400
- 1204 30& = 130,00000 = 33 11,700
O SA28 HIISZE L MY 2017 L
= MZ 1002 * 30,00000 * 23l 6,000




M ZAlOISH

HM: HII2 SE2F H2(BES/HIIZ)
Sl KPR motl MBS (S &2)
(o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
O SAZR HII22y ¢ MyD0 017 &
oF Ml & 80,000 * 10HA * 29.| 1,600
O 8428 HIIS 828 £HE) ME(HsF
8 S) 30,000 * 3000 » 10€& 9,000
202 o4 H| 2,890 2,890 0
01 2L I 2,890 2,890 0
O S42F HIIE Nes +8DS &4
85,000& x 2% x 22 x 43| 1,360
O SAZ2% HII=2 M HEW E &&X
S X ar 85,000& x 2% x 3Y x 33 1,530
206 M Hl 2,000 2,000 0
01 XHZ Hl 2,000 2,000 0
O SA22+=HED(1200 ) HEE ¢
50,000& = 400H 2,000
307 2Iz2t0| & 43,200 43,200 0
05 QIZtR &S 43,200 43,200 0
O Z2=FY SASFHIIS S2=HE2I| HME
1,000& * 1,80000 = 23] » 12& 43,200
g2 2el4+A 537,083 507,894 29,189
101 e1214| 421,443 365, 144 56,299
04 JI2tHIZ22XNSEES 21,443 365, 144 56,299
O Megs 2e=HA 421,443
o o9l 63,200 * 1798 » 5 * K2 279,344
o FEXY 63,200 « 17 = Hh2=: 55,869
o MIBEZUWEE, LI QRUBE)
36,000,000& = 14! 36,000
o EAZ 30,000,000 = 1Al 30,000
o Il=H(&ges 2Y) 20,230
- &= = 150,000 = 17 * 13 2,550
- 2= 4,000& x 1798 = 5 * H2=F 17,680
201 YEt2 | 88,760 65,370 23,390
01 AP 2t 2| bl 78,400 60,370 18,030
O gbtx==2H| 39,700
o MEEE HEA ALY HIIEHE =%
(A7) 600,000& * 5= * 23| 6,000
o HMYEHE HHHS P*Y 10,360
- 0|24 & 800 = 3,500H 2,800
- U 82 5,000& * 80JH 400
- 70 5,000& * 2074 100
- EctAE 8,000 = 80JH 640
- M3 1,000,000& = 14! 1,000
- HEEE 0S8 2L (28
500,000& * 504 2,500




2 TADIED
M M2 §8F M (BZES/HIIE)

Sl RO HoD WEE (S &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
- HE2E Hd8% JIHFTU2 22(204 )
50,000& = 10H 500
- NHE2E 482 J|HF=LE F22IA(20
2 ) 150,000& = 2J4 300
- WESEMEE 22NY EW(FTOHH
1000kg ) 6,600 * 200 1,320
- HESEMHEHR 2212Y PP (2 HOt
CH 120kg) 800 = 1,000H 800
o MEEZE 2ctiEs 288 84X HE
120 = 5,0000H 600
o F0l EEE L0 H&
80,000 * 6 A = 33 1,440
o HIISHeAE eI UESH 15,000
- =222 I HE 5,000& * 1,000& 5,000
- 88 2cd4+H Jtg ¢
10,000& * 1,0007H 10,000
o EH0|™ et st 7Y
15,0002 * 200K 3,000
o HANMX n&tE AE&8X 2L
1,500& * 1,000M E 1,500
o CAXNY (A HEe, 48) MHEEE =
e (= AH]) 150,000& = 2CH = 63| 1,800
O odx= 38,700
o MEESE HEE = &2x8 HALX
2,000,000& = 12€ 24,000
o TAXG (MM HE, =) HEEE =
&er AR 4,500,000& = 33| 13,500
o MEsE HE& A A=22dl
50,000 * 12&€ 204 1,200
02 Z2=2=2494| 10,360 5,000 5,360
O = Hl 360
o MESEHEH LS e AdUsSE #
2! 900& * 2002l * 23 360
O A& &E- KXl 10,000
o MEESE HEH AMEHH KX
1,000,000 * 10= 10,000
202 044l 3,330 3,330 0
01 2L Hl 3,330 3,330 0
O MEss8 22l+=H dHln X &l
85,000& x 2% x 3Y x 33 1,530
O EMXNYE HEEE &=H
50,000& = 3¥ = 123] 1,800
206 M = Hl 10,050 8,850 1,200
01 X2 H| 10,050 8,850 1,200
O HEgZsE 22lx=Hg 2
100,000 * 2074 2,000




2 TADIED
M M2 §8F M (BZES/HIIE)
chol: XiRol Mol WEE

= _ — d =
SA - BB B () - MM - BES Ol &t o e
O HEgzs 258 MAE F
150,000 * 504 750
O MESEZ(HE, ¢4, 2RH) 2= S8 =
A2 2,000& = 1,000kg 2,000
O NMegEs 2el=Hg 7¢
240,000& = 2004 4,800
O 8™ =)HE HLSE 7
250& » 2,000% 500
301 gt 4= 13,500 13,500
09 SAAHIEA S 2,500 2,500
O TANXS THEES =12 HHEY
50,000& = 5% = 102l 2,500
1MIIEBELSS 11,000 11,000
O MESES(HAEX, S0/#)=H LU
T3 5,000,000& = 23| 10,000
O BEJ 853 &1 &3 1,000
o N2 @ F M1 ~F D58t
50,000& » 20A 1,000
SZ MUY +H243 14,700 14,700
= 2,100
< 2,520
Al 10,080
301 L2 A F 14,700 14,700
= 2,100
< 2,520
Al 10,080
11IIEtEA S 14,700 14,700
O HHY =X 243 X 80&F = 183,750kg 14,700
= 2,100
< 2,520
Al 10,080
131 8Z MERA 2,710 2,710
201 LBr2 Y| 1,350 1,350
01 At 22l 1,350 1,350
O L=t 1,350
o 13|83 AHEANM 228 X HMA
120& = 5,0000H 600
o 13| AFEAM 2t AEIH E EES
ZIAH M 200& = 2,0000H 400
o B3I 181835 E=E0)] 222 & =
AH ME 350& = 1,0000H 350
202 O4dl 1,360 1,360
01 SLHAYI 1,360 1,360
O 13183 MEAM HEs A
85,0003 = 2 * 2& » 23 680




2 TADIED
M M2 §8F M (BZES/HIIE)

S T EoL HEE (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O 1883 MERM &8 Xk - &=
85,000& * 298 = 2 « 23| 680
Ssdoty =5 K& 10,000 10,000 0
= 3,000
< 1,400
Al 5,600
401 Al HI & 28I 10,000 10,000 0
= 3,000
= 1,400
Al 5,600
01 A& HI 10,000 10,000 0
O 2018 E=sHJIIS 2sTotE &5 NFAEY
5,000,000 * 204 10,000
= 3,000
< 1,400
Al 5,600
MEHIIE Meldlgt &= 9,090,582 8,937,962 152,620
HIOIEX2ANE 2 8,991,322 8,816,802 174,520
101 1A bl 206,585 232,930 AN 26,345
M4 JI2ZHZEXNSES 206,585 232,930 AN 26,345
O MEHIE MelAld 206,585
o o2 69,200& * 6F * 5 » 52= 107,952
o =g 69,2003 * 6Y = 52= 21,591
o gYaRLY
69,2003 * 6Y = 52 = 150% 32,386
o MIBEHZUUEE, LAEIILYLEEH)
13,536,000& * 14 13,536
o EAZ 2,300,000& * 2 » 44 18,400
o JA=E P2 150,000& * 6H =« 23| 1,800
o 2+AlH] 3,000& * 6Y * 5 x 5= 4,680
o F=| 4,0008 ~ 6% * 5 * 52= 6,240
201 Let249] 359,715 311,773 47,942
01 At 22/ 121,415 73,473 47,942
O «er==&Hl 57,915
o A2E HITA =2 (HEE, ¢2E)
800,000& * 20 A 1,600
o A2AE L0l AL =222(325,
E==L) 5,000,000& * 20 & 10,000
o WIIXRIIESE U =2
996,000& * 5Ji 4 * 23] 9,960
o HEAIE HIAM =25 (HEE =25, &
S, %) 4,972,800& * 401 19,892
o KXot HAE =Z2ZA =28
167,500& » 3XI& = 504 * 43 10,050




M ZAlOISH

HM: HIIS 288 M (H#BES/HIIES)
Ce: MEHIS MHeldlE &5 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
S hx 22BN FrE
165,500 = 2K & * 1JlA = 43| 1,324
o SAZ AL SHE 2TAMN 24
= 122,100 = 43| 489
o sHE HII2 MHelAlE Al7r&EX =04
=3 = 4,600
— &0t H& 80,000 * 404 * 53| 1,600
— I M & 3,0008 * 2008 * 53| 3,000
O 2g9=¢ 5,000
o SAEHIIZS ZSEHMeAE =XEo
M glel &A% 100,000 * 10 « 53| 5,000
O gdx= 58,500
o sHE HII2 MelAlE HEHIIS =A
&H| Xt 28,500
— A8t 3,750,000 * 6O « 13 22,500
- A X 500,000& * 6IOHA * 13 3,000
- gz 500,000& * 6IHA * 18] 3,000
o TAXNYE ARE SAZHIIZE X2AA
eI Xt 2,500,000& = 12€ * 1 30,000
02 Z2=2=24%4| 238,300 238,300 0
O Z222=2 2 HA 55,200
o TAXNY HIISHEAYE &I L &0t
= 600,000& * GIHA + 12&€ 43,200
o T NAY HIISXHEAIAE HI|erd 22| ]
ez 200,000& = 50HA « 12&€ 12,000
O =4l 26,500
o T NKY A2AANAE S2H|
5,300,000& = 5JH A&~ 26,500
O A& & HI KX 102,000
o ENXNSE HIISXKHEANE FANES
8,400,000,000& * 0.5% 42,000
o sHEHJIIS HelAE 290 s A2
s 7 10,000,000 = 6o & = 13 60,000
O Xtg - &ded| 54,600
o TANXNYE FAXE KFH ¥ &Y KN4l
650,000 = 7CH ~ 12& 54,600
202 o4 | 7,160 6,260 900
1 =2 UW I 7,160 6,260 900
O SAEHIIZS S HeAE S &2
20,0003 * 29 * 4L « 128 1,920
O SAl=2 XNSSAIE DIZI/ESH &S
20,0008 *~ 2% * 3L « 128 1,440
O EAXY QM AL & &0l
50,000& * 29 = 1 * 123 1,200
O HEX s0HE HIIZ2 M2AE (eSS s
S & EOI 50,000& * 2% x 93] 900




2 TADIED
M M2 §8F M (BZES/HIIE)

Sl MEHIIZS XMeldlg

Jho
Ot

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
O EAXY HEAAE Kot ZAE S BA
AMEMF L A 212 85,0008 » 2% * 83 1,360
O SAZSXISAE SHE =2EA 23
85,000& * 1Y = 1A * 43| 340
206 M Hl 45,240 45,240 0
01 XHZ H| 45,240 45,240 0
O yoiotE Do(22 U oo
5,000& * 184 * 103 ~ 6&E€ 27,000
O 2 #¢ 18,240
o MIHEAE 2EX
4,000€ * 150m * 6N * 43| 14,400
o 2H0|0HE & =& M
4,000€ = 20m * 1200 A = 43| 3,840
207 I & 132,541 35,000 97,541
01 A2 ESHH| 132,541 35,000 97,541
O &8 HE HMAYHYAL AB22IBY
35,000,000 = 1Al 35,000
O ZEAEHIIES SEeH2AE s3a dSXAL
97,541,000 * 14! 97,541
301 et A= 50,672 46,039 4,633
11 JIEtE A= 50,672 46,039 4,633
O HIISHM2AIE ZAIES AlH 24 35,672
o =G 69,200 * 29 * 5L x 465F 31,832
o HE8 & 160,000 * 2% « 12&€ 3,840
O EAEHIIS SeHMHeAE 24IA 2
OlMlEE 5,000,000 * 3420t 15,000
307 QI2t0| ™ 3,114,531 3,085,580 28,951
05 QIZtRES 3,114,531 3,085,580 28,951
O 8428 HIJIS MelAl&(BT0) ¥
3,012,530,400 = 14l 3,012,531
O EANEHII= S&tMelAlE H=x ?IE X
8,500,000& = 12&€ 102,000
308 XAXIGHH SO0l & 4,576,348 4,713,980 AN 137,632
10 B2 SHUSE AN E A 4,576,348 4,713,980 N 137,632
O EAEHIIZE SeHdeAE /g 24
4,576,348,000 = 14! 4,576,348
401 AlEHIZL £ 0HY| 90,000 340,000 A 250,000
01 Al&H| 90,000 340,000 A 250,000
O A2ZAE HIE DH(H2E, HE)
25,000,000& * 202 50,000
O A2AAE HE HUI(HE)
10,000,000& * 1JH A 10,000
O sHZE HIISHEAE =z =2 & &
28 HH(&=T) 30,000,000 = 1Al 30,000
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k

S MBHII2 Meldlgt &35 (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
403 UHXSHHSA=0l& 333,530 0 333,530
02 SO 2SOCHst 2 X 2 A I 333,530 0 333,530
O ZAgHIIZ2 SEXeAE 28 29
333,530,000& * 14 333,530
405 XHoHF S HI 75,000 0 75,000
01 XL =2 ZFH S| 75,000 0 75,000
O 225 sHE HIISXMel Al Mg Mg )|
=AY 2L (5E) 75,000,000& = 1CH 75,000
HXHE HHXS JIsHE A 18,060 34,260 A 16,200
201 Let24d] 12,000 27,000 A 15,000
01 At 22l 12,000 27,000 215,000
O «er==&Hl 12,000
o HXE MUXIs LAY 12,000
- =RUES MR M
1002 * 30,0000H 3,000
- =& HEO OE =2 WA
80,000& * 54 * 43 1,600
- =& A OE HI M
3,000& * 2008 * 43| 2,400
- Q-5 e 21s
2,500,000 = 23l 5,000
202 oddl 3,060 4,260 A 1,200
01 = LH 4 1l 3,060 4,260 21,200

O XS MUXE JSHLAY ZD0l 0BE
slo] M (YR S)

85,000% » 2% » 2& * 62 2,040

O BIRE GILIXIGE DS A 2@t AIOIL
A Y HAT A
85,0002 * 3% * 22 x 23] 1,020
301 Yure A a 3,000 3,000 0
09 SAF&IHI & A 2 3,000 3,000 0
O BIRANUXIS JIeHLAS X0 0
=W =D MEX A&
50,0002 * 30 * 22 * 18] 3,000
AT 2OHEY 29 81,200 86,900 A5,700
201 Yy A Y| 80,000 86,000 A6,000
01 AL 22l 80,000 86,000 A6,000
O Axz 80,000
o HIIE 2¥ & A
3,750,00020 * 22 * 23] 15,000
o Y HIIE 2= Ty X 40,000
— 2
500,0008 * 2CH * 22 * 10744 20,000

- 8 I 500,000& * 2CH = 2 = 1000 & 20,000
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